15241 SKIMMER V20 PRO FOLIE

.. 063

IO -/

284

284 -
26
; | I
e me
o Z O
- KR
”j+ )| i+'_ ;‘131 ;
| = ,2 | !
Lé—f—& e —QJ .
— : T §
i PN |
L ___ 320

detail  identifikace popis
Teélo skimmeru V20
1 E152401 Skimmer body V 20
Priruba skimmeru V20 ABS
2a E1530071 Flange of skimmer V20 ABS
Pfiruba skimmeru,V20 nerez
2b E1530073 Flange of skimmer V20 stainless
Tésnéni pfiruby skimmeru V20
4 E153008 Washer of skimmer V20
Limec vika skimmeru V20
5 E1024003 Adjusting collar skimmer V20
Viko skimmeru V20
6 E1030041 Skimmer lid V20
7 E103005 Kosik skimmeru V20
Basket
Dvitka skimmeru V20
8 E103006 Door of skimmer V20
Pant dvifek skimmeru V20
° E1030061 Hinge of skimmer door V20
Sroub k pantu nerez M4x6 DIN 7985
10 E140104006 Screw for hinge stainless M4x6 DIN7985
" E1550 Sroub priruby M6x22 DIN 7985
Screw for flange M6x22 DIN7985
12 E0301550024  |rubkaprepadu

Pipe overflow

S
¢
|
M
M
E
&
V7
/
S
K
I
M
M
E
&
S






